arcsec

arcsec

2](degrees)

o[m

150

100

50

-50

-100

-150

150

100

50

-100

-150

OO0 - — @
Ao oo

o0
on

100
50

-50
-100

300

100

NGC 5085

0.10 |

150
100
50
(&
()]
§ 0
(4]
-50
-100
-150
-150 -100 -50 0 50 100 150 -150 -100 -50 0 50 100 150
arcsec arcsec
L | | T T T T T g 0.20
- 1 h= 39" |
I Ros 0.25 h= 55" |
N ] h= 92" |
B 71490.10 7
I ] 0.20 - _
? 7 10.05 |
A 045 :
0.00 “\\z - ]
A {005 010" |
I 1 H-0.10 ]
B . 0.05 -
I | W-0.15
;T L L L L ‘ L L L L ‘ L L L L ‘ L L L L ‘ L L L L T: '020 0.00 L L L ‘ L L L ‘ L L L ‘ L L L ‘ L L L ‘ L L L ‘ L L L ‘ L L
150 -100 -50 0 50 100 150 0 20 40 60 80 100 120 140
arcsec Radius (arcsec)
S E 250 - 3
i -- A4 ,: ) E
== Re ; "» 200 - E
3 Ag E = Y R —— T T T T T
— - X 150 . -
& 100,
3 ? > 50 ]
ot 0 ‘ ‘ ‘ ‘ ‘ ‘ ‘ .
0 0 20 40 60 80 100 120 140
Radius (arcsec)
- g y ] Q,: .. AT
L T + ] Fap * - Mpo = ---
n + " B Qpre: .. Ax(Toar) © -
L Jr _
B + jtF ] rgetl)lo—corr . ATaX -
oy e i Qg ;. VI 1 178.67 55 km/s
L E J[F ] rbar—only . rmax © 65 25+ 1.50
- A+ f %H'F%# f B be I-y ” 3.6um - &9 4 150 »
- - et 1 (Qaremynatoeert Vieum(Rot) : 161.7 7 57 km/s
-+ + + 0 b 3.6u opt 3
For | | mﬁ | | +ﬁ+ﬂfﬁ% (rogroniyyhalo-corr drVseum(0) 1 146.77 122 km/s/kpc
0O 20 40 60 80 100 120 140 Qnlfoa) - - M/M.(<Rop) - 1.84
Rad|us (arcsec) QTao—corr(rbar) S a: 19.2 kpC
€ ... V_: 331.2km/s
: v f 025-| — Q. ]
i Vhalo j Q_r|1_alo-corr
i V3.6um ] i
: Vg ] 0.20 - :
0.15- .
d— i

0.05

0.00

L [
40 60
Radius (arcsec)

80

0 20

40

60

80 100 120 140

Radius (arcsec)



